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Note : Attempt five questions in all, selecting at least one question
but not more than mo questions from any unit. All
questions carry equal marks.

e ﬁaﬁ_ﬁémﬂﬁmmm@w—@—m
TF T Afusam a7 ¥4 & SWw Afem) 9t v 3
AiF THA B
UNIT-I ( $&hrE-1 )

1. What do you mean by Agriculture Income ? Explain the
necessary provisions relating to it. 18(20)
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2. (a) Explain the incomes which are "deemed to be received"
~and "deemed to accrue or arisen in India". 10(12)

(b) How does Tax planning differ from Tax evasion ? 8(8)
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Mr. Abdul Rahim was appointed in a factory on 1st January,
2004 in the pay scale of ¥ 3000-250-6000. On 1st Sept., 2013
his services were terminated at the time of retrenchment on
account of closure of business and he received a’compensation
of ¥ 50,000 from his employer under Industrial Dispute Act
and he received also gratuity of ¥ 37,500 under Gratuity
Payment Act, 1972. He was entitled to avail Earned leave of
30 days each year. At the time of termination of his service
he was also paid ¥ 42,000 for 8 month earned leave not availed
of by him during the period of service. On 1st December,
2013 he got another appointment on a monthly salary of
¥ 7,500. On 1st February, 2014 in order to meet the expenses
for repair of his house, he received an advance of 4 months'
salary and also took a loan of ¥ 20,000 from his employer for
the purpose. Determine his taxable income under the head
Salary for the Assessment Year 2014-15, assuming that the
salary is due on the first of the next month. 18(20)
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4.  Mr. Ramchandran owns two houses at Chennai. Compute his
income from house property for the Assessment Year
" 2014-15. 18(20)
House I House 11
4 o
FR.V. 36,000 1,20,000
p.a. p.a.
Actual Rent 4,000 12,000
p.m. p.m.
Municipal Rent value 4,0000 1,30,000
: : p.a. p.a.
Standard Rent 38,000 N.A.
p.a.
Eci.&n& tax 10% of MRV
plus 2% of Municipal tax as
severage cess (Both houses).
Actual Repair mw@gmom 4,000 12,000
Ground Rent 2,000 2,500
Int. on Loan 12,000 48,000
Vacancy Period 3 months —
woswmam Unrealised Rent of
Current Year ‘ — 36,000
Construction of House II started on Ist November, 2009 and
he borrowed ¥ 40,000 @ 12% p.a. on Ist July, 2010 for the
ooBEnaon of construction. The house was completed on 30th
November, 2012 and since then it is let-out.
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House I House IT
4 Z
3fFa fera ey 36,000 1,20,000
wf o wf =
EESIECRE e _ 4,000 12,000
T A g A
=T e gem 40,000 1,30,000
yfa o g o
o R 38,000 NA.
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(TR T =TT 4,000 12,000
a9l w7 R 2,000 2,500
B | = 12,000 48,000
HEE Wl ® ST ey 3 AE —
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[l — 36,000
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UNIT-II ( ShTE-I1 )

(a) "Certain deductions are m:o.soa only on actual payment
under Section 43-B of I.T. Act, 1961." Discuss. 8(8)

e FAfET WY R s, 1961 % st
YR 43-B % IR A(TH TR W uRe B
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(b) Discuss Re-exempted Om.m:& gains. 10(12)
FEIHR TN o w1 Fof Fifem

il M/s Singh and Jain is a firm of CA in which Singh, Jain and

Narayan are working partners, sharing profits and losses in
the ratio of 2 : 1 : 1. The firm showed a net surplus of
360,000 for the year ended 31st March, 2014. Following items
are found debited in the Income and Expenditure Account of
the firm :

1. Salary of Jain % 7,000
Salary of Narayan CZ9.800
2. Commission to Singh T 6,000
Commission to Narayan < 4,800
3. Customs Penalty paid - ¥ 3,000

4. Rentof¥ .w,moo paid to Jain in respect of the house let-
out by him to the firm.

Compute the Total income of the firm for the Assessment
Year 2014-15. 18(20)
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Dr. Verma is a senior lecturer in a Degree College. Following
informations relate for Assessment Year 2014-15 :  18(20)

Basic Salary @ ¥ 12,000 p.m.

D.A. 45% of Salary.

Wardenship Allowance @ ¥ 400 p.m.

Examinership Remuneration ¥ 3,000

Royalty from books for school (Computed) ¥ 22,500
Gross Int. on Govt. Securities ¥ 5,000

Int. on tax-free debentures (Gross) ¥ 3,000. Debentures
are issued by Public sector company.

= O AR e

8. Dividend on a share of a foreign company ¥ 2,500
9.  Income from House Property (Computed) ¥ 10,000
10. Contribution to SPF ¥ 5,000

11. Contribution to PPF ¥ 12,000
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12. Premium paid by cheque on Medical Insurance Policy
on health of dependant father ¥ 3,000

18 Uo:mnou to an approved charitable institution ¥ 10,000.
‘Compute his Total Income.

,ﬁoﬂﬁ@ﬂ@ﬂn%&ﬁﬁwﬁﬁ%ﬂ
2014-15 F forw ST Fre g E

. HA 3@ T 12000 I AE
2. WEME S AT FT 45%

3. ST 9= T 400 Ui O

4.  wlEH TR T 3,000
5. el ® fau T ¥ W () T 22 500
6. WER Wyl W gFEA === T 5,000.

7. H-HE RUGE W GHS S T 3 000. KO e

8 F wEd ga frifm
8. U forell &7l & W W on9iwr T 2500
9. WHH THW ¥ 3™ (Yfe™) T 10,000
10. Fuife wifeewe wve § efvRE T 5,000
11. HESe WfEaeve o8 § 3f¥EM T 12,000

12. s@mﬂﬂﬁﬁg%%%ﬂﬂwﬂw&
HifEw gwmEr T 3000

13, TH I qoare Teen # I9 T 10,000
ﬂﬂ&mﬁaﬂ:ﬂﬂﬂe
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10.

UNIT-III ( SehmE-101 )

"An Assessee does not only pay tax on his own income but he
is liable to pay tax on other incomes t00." Discuss.

18(20)
‘o R A ST ST o W ¥ F A A W
= s F oo W T A e g 8 feowd
FfU) ’
Define the following :
(a) Best Judgement Assessment. _
(b) Powers of Central Board of Income Tax.  9,9(10,10)

i &) o= ST . ¥,
(%) Tatew faofa we-frafon
(@) TR B W F AR

What do you understand by Penalties ? Why are penalties
imposed upon assessee ? 18(20)
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